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1 TN | B | 4452241987011 %% xx ﬁ%%‘&%#ﬁilﬁ&ﬁfrﬁdaﬁﬁ“@f&m@—f’#}
2| TR | B | 44522419920924%kx | BURAEMEAL KM S 2 AR
30| FXM | B | 44522419930919%xxx | BURLAGIL KM = 2 A
4 T A | B | 44522419921215%xxx | BRI KM = B0 oE4
5 REME | B | 44522420010822% %% | BRI IAL XM = B & 1E 4
6 | PRIA | B | 4452241984041 %%+ | BIR M KM= £ A 1E
T | ZREW | B | 44052819760615%xxx | BIR4EM I KM= B 5 A EH
8 | R | B | 44522419810215% %% | EIRAEMEAL A KM= 2 A EH
9 | REEH | B | 4452241997083 %%+ | BN KM= Bk A 1EH
10 | ZobE | B | 44522419981228%xxx | HIR4ME LA K ME = 2 A4t
11| HaF | B | 44522419900115%x#x | BRAEM L4 K i = 23 A1E 4
12 | B3R | B | 44522419841028% %%+ | BRI KM= £ Akt
13 | Zr#Ege | B | 44522420041025% %%+ | BIRMILA R = & A 1E 4
14 | FEA | B | 44522419871020% % %ﬁ%dﬁihﬁz#ﬁiﬁifféfﬁi
15 | Zid4e | B | 44522419871014%+xx | BUR4EAMR LA XA = B &4
16 | ZERE | B | 44522420030802%x#= | BRI KM= 2 &4
17 | R&4H | B | 4452241984021 5%+ | BG4I R M = 2 &1
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18 | H4kA | B | 44522419880810%+xx | BIGAAM LA K M7 = 2 3 1B 4t
19 | 4 | B | 44522420010221% %+ | BR4EMG I3 KM = 2 5 A4
20 | RIGEE | 3B | 44522419921101 %% | HIR4EM LA KM = B3 A 1E4E
21 | RIBI | B | 4452241985041 7wwx | BEIRAEMA KM = 25 &1k
20 | RER | B | 44522419870915%%xx | BURAGIM KM= 2% A4
23 | AEF | B | 44522420041004%xx | EORGAEAA KM = 2 A
20 | MR | B | 44522419930510% %+ | BN KM = 2 A EH
25 | FEEsm | B | 44522419991006%%xx | BISAEM A KM = 2k AR
26 | KA | B | 44522419980203% %+ | EURAEMIAL I KM = B A EH
27 | MBI | 5 | 44522419881228# %+ | BIRAMEILAL XM = 25 AEH
28 | KRB | B | 44522419780704%xxx | EIRAEM AL KM = 2 AEH
29 | MR | B | 44522419911228%xxx | EIR4EMIAL A KM = 2k o1k
30 | MR | & | 44522419801018%xxx | BURMIAIA KA = 2k & 1EAE
31 | FikdE | B | 44522420000122%%%x | BEIRAMEAL A KA = 22 5% &1k 3
32 | e | B | 44522419760624% %+ | EIRAEM LA KM= B A 1EH
33 | AW | B | 44522419860619%«xx | BRI KA = B A A
3 | FEY | B | 44522419860202% %%+ | B IR4HAME A R Mg = 2 KA
35 | AER | B | 44522419740903%kx | BURGMEIL A KM = 2 A EA
36 | ZINME | F | 44522419930423%+xx | BRI KM = 2 AR
37 | KRBT | B | 44522419980930%%xx | MR A K M = 2 3k &4k
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38 | kA | B | 44522419900922%%x | BURAEM LA KM= 2 F A
39 | RMEE | B | 4452241992011 1 %%xx | BUG4EME AL K M = 2 3 A 1E
40 | RE¥ | B | 44522419881201% %+ | BIRAAGALAE KM = £ A4
41 | Wrilidk | B | 44522419940208%xxx | BEIKAAEILH KM= B
42 | TREM | B | 44522420001125%%++ | BRI KM = 25 A1F 4
43 | fIAREF | B | 44052819711025%%xx | BEIRAMIH KM = 25 &1 #
44 | RIEFE | B | 44522419960714%xxx | BIRAEM AL KM = B R A A
45 | HiBE | B | 44522419881010%xxx | EIR4AEILH KM= 2k A
46 | gAE | B | 4452041996081 4% xrx | BIRAMAL R KM= B A1
A7 | HRX | H | 44052819700825%xxx | BUR4EMIH KM = £ 5 &1E 4k
48 | FAE | B | 44522420031102%%%x | BURSAM LA KM= 25k S 1E 4
49 | ZRE | B | 44522419990428%xxx | EIR4MEILH XA = 2 kA
50 | KKEM | B | 44522419821014%xxx | MG MM R M= 23k &4
SU | AR | B | 445204198302034exs | BIRAG LA K AE = B A
2| FhAk | B | 44522419950806k s | BIRHM AL KM S 2 AR R
53 | RHENE | B | 44052819700618%xxx | EUIGAEMEALH KM= 2 5 AR
54 | BKEZ | B | 44522419860427%xxx | BEURMIMEAL A KM = 2k Akt
55 | REN | B | 44522419850418%xxx | BIGAM A RS 2 Ak
56 | MK | B | 44522420001029% =% | BIR4MEAL A B M S 2k AR
5T | KA | B | 44052819470103%xx | BIFEM AL KM= 25 &1k #
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58 | FEA | B | 4452241990091 2% %%+ | BURHMEALAE KM = B AE
59| KER | B | 44522419931015xxx | B KM = B AR
60 | FHK | B | 44522419891230%%x | BIR4EMEAL A R A = £ kot
61 | I | B | 44522419740410%%x | EIRAMEAH R M= 2 5 A1
62 | HH | B | 44522420020909%xx | BIRAEMEIH R M S B ER
63 | BLARM | F | 44522419830301#xxx | BKAAEILA R M= 2 A
64 | Fapfn | B | 44522419740121%xxx | EIRMMAH R = £ AR
65 | AAK | B | 44522419920814%##x | BURSAMEILH KM = B4k
66 | FRiR®h | B | 44522419820128%xxx | EIRGM A R M= B F A1
67 | R&A | F | 44522419771102% %+ | BEIREMIH R M= 2otk
68 | ROEF | H | 44522419820916%%xx | EIKHME A R M= 2 A
69 | REEHE | F | 44522419870820%xxx | BIRHAFILA R M= B A
70 | BRXH | 3B | 44522419830720%%%* | BEIR4MGA AL KM= 2 % A4
1| HEM | B | 44522420020802% % | MK KA = 25 A4
T2 | AN | F | 44522419781125%wxx | EIRMME LA KM = 2 A4
T3 | AHEAR | B | 44522419950419% %%+ %éﬁ%ﬁﬁitﬁmﬁﬂéﬁfé\f’%
T4 | AR | B | 44522419950206% % | EIRMMEAL AL KA = B oA
75| ERFE | & | 44520419860710%%%x | BIRLMEALH KM = 2 AR
76 | XXM | B | 44052819700210%%%x | BEIRAM A4 KM= 2 5 &1kt
77| AR | % | 44522419800228%%xx | HURAEME LA R M S B AR
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78 | AR | B | 4452241978121 2x%xxx | EIRAEMIALAE KM = 2 KA1k
19 | REY | B | 44522419990222% %% | EIGAEME A R MG = 2t
80 | TKEFH | B | 44522419880116% % | BUIR4EM A R MG = 2 Atk
81 | ik | 44522419780624xxxx | BIRGPM A KM = 2 55 &1+
82 | A | B | 44052819690121%xxx | EIF4AMAH R M= Lok
83 | HBLH | B | 44522419951025% %k | EIRAMALE R M = 2K AEH
84 | KX | B | 44522419810207+xxx | BIRSM LM R M = Bk &3
85 | HEF | L | 44052819740808+%%x | HEIKAMEALA KM= 2k A2k
86 | AR | B | 44522419790830%xx | EIKAAMEAL A KM= 2 A
87 | H#EH | B | 4452241985101 1= | BIRM LA R MG = Bk ok
88 R4 | 5 | 44522419870127+xxx | BRI H R M = Bk &4k
89 | HIEL | B | 44522419960309% %+ | HIRAEM A B M= 25 AR
90 | FTEE | F | 44522419970630%%xx | BEIRAME LA R M= 2 AR
91 | MW | 3B | 44522419901118% %% | BIf4M A R M= 2 5% A3t
92 | HEE | B | 44522420020519%x#* | EIRHMIA M = 2 Ak
93 | AW | B | 44052819730715#+x | EIRMAMIH R M = 2k A1
94 | M | & | 44522419820207xx | BUKHIAEILH KM= 2 AR
95 | RMEA | B | 44522419800806% %+ | EIRGMEILI X M= £k A A
96 | RAM | B | 44522420030927 %% | EIGAMAA R M= 2 Ak
97 | AR | B | 44522419970424%xxx | EIG ML KM= 2 AR




98 | AARA | B | 44522419910918xxxx | BIRAEMEII R A = 2K SR
99 | FIARZR | B | 44052820030919%%xx | MR A KM = 25 S 1E 3
100 | Z74RE | 3B | 44522419921110%%%% | BRI KM= 2 A tE 1
101 | Z94R | 2 | 44522419781128%wx* | BRI R ME = 2 5k A4k 3
102 | 7745 | B | 44522419970904%%%x | HIRAEMELA KA = 2 5% &1kt
103 | Z8RH | B | 44522419910202%xxx | BEIRAEMEIA R M = 213
104 | 78 | 3B | 44090219770109%%#x | HEIG 4L R M= B bt
105 | 7R | B | 4452241999081 7xxxx | BIRAMELAE R M = 2 5 &1k
106 | FTAR4K | B | 44052819660727x%*x | HIR4EM AL R Mg = 2 4k 3
107 | ZEKE | B | 44052819700204%%%# | BIR4EMAL A KA = 25 o1
108 | Bkt | B | 44522419790510%##» | BIR4IMEAL L KM = 25 &1
109 | FTHH | 5 | 44052819730721%%xx | B IR4HAME A R ME = 2 5 A4k 3
110 | 708 | 5 | 44010519830204%%xx | BIRAME b R M = 2 5 &4
L | FHW | B | 44522419800910%%#+ | BEIR4M At KM= 2k &2
112 | XERE | B | 44522419921208%%%x | EIRM b4 R MG = 2k A fE 4
113 | JREE | B | 44522419790405%%#x | BIF4ME it KM = 2 A2t
114 | 7B | B | 44522419970321%%%% | BRI KM = 22 5 &1
115 | RITIE | 5B | 4452241997121 5%%#x | BIR4EM AL R MG = 2 5 A1k
116 | Z73aX | 5 | 44522419820418%xxx | BIG MMt KM= 2 &3
117 | 73D | 5| 44522419580101%x%x | BIR4M I KM= 2 A1
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118 | FTHM | B | 4452241991111 3wxxx | BURAEAM LA KM = £ 3% A4
119 | 250k | B | 44522419910806%*+ | BB AL M= £k &1E4E
120 | RS | B | 44522420050606%**x | EIRAHAR AL KAy = £ A 1E 4L
121 | Rt | B | 44522419950808%%xx | BIRAEMEAL K M5 = B &1
122 | 2k | B | 44522419920418%%++ | BIR4EMAL A KM = B3 &4
123 | BEE | B | 44052819701125%%#x | B3Rt R = 2 A 1E 4L
124 | FR# | B | 44522420000218%%x% | HEIRAM LA KM = 2 &4
125 | K[H B | 44522419810923%%#x | BRI KM= 2 A 1EH#
126 | MREp)Il | B | 44522419930310%+xx | H3R4EMALE KM = £k A1k 4t
127 | FiAR | B | 44522419980821##=+ | EIRAMIH KM= 2ok
128 | BRI | B | 44522419930909##xx | BRI KM = £ A4
129 | AZH | B | 44522419811223#»++ | BE3R4EML A KA = 2k A1k
130 | FEN | B | 44522419970520%#=+ | HEIRAMIHKH= ZiF e
131 | 24 | B | 44522419970510#%#% | E3F4EM ARG = B FA1E4
132 | ARZEW | L | 44522419560701 %% | EIRMIMEALH KM= 2 A=
133 | M | B | 44522419991122% % | EIRAIMEAL A KA = £ ik &1k
134 | 7 | B | 44052819680819xxx+ | ER4MAL R A= £ 1E#
135 | fTHEUK | B | 44522419901021%x%x | BE3REM L H KM= 2ok
136 | BRdwik | B | 44522420020520% % | BURAEMEILAE KM= 2 AR
137 | FEE | B | 44522419970224%##x | B3R XM= 2 iS4 H
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138 | E40 | B | 4452241974121 1% | BIGGMAH K= 2 A 1EH#
139 | k4B | 35 | 44052819740226%*=+ | EIRHIMALH XM= £ A 1EH
140 | Z3CIR | B | 44522419880224%#xx | BIRAIMALAE KM= 2 5 A 1E
141 | ARMER | B | 4452241990061 7%#xx | BIR4MLH K Mg = 22 A 1E4E
142 | RE4 | B | 44522419910328%xxx | BUIRAIM I KM= 2 A 1E#
143 | kW& | B | 44522419871221%xxx | ER4EMALH R = 2 k2
144 | 70 | B | 44522420000206% %+ | BER4EMLIL KA = 2 Ak
145 | RAERK | B | 44522419920303#=++ | BG4I KM= 2 A4
146 | FuhEE | B | 4452241989091 7+xxx | BIRALMEILH KM= 2 &1E#
147 | s | B | 44522419911208* =%+ | BOIR4HMEILH KA = 25 &1
148 | ZR4& | B | 44522419760725%%xx | BRI KM= 2 H kR
149 | ¥ | B | 44052819680830%«xx | HiR4iteibit KM = £ eEx
150 | Z0e | B | 44522419991115%»x | BURAM AL XA = 2 a1E#
151 | F&W | B | 44522420010409%%x | EIRMEMH KM= BiFeEd
152 | FITWE | B | 44522420000628++++ | BIRAEMILH M= 2k aEH
153 | REK | B | 44522419940310%xx | BEIR4ME LA K45 = 2 & E#
154 | fT84k | B | 44522419760715+=+» | BIR4M I KH = 2 5 &1E#
155 | Zr4R%% | B | 44522420010503%x* | BUR4MILHE R A= 2o E#
156 | HHE | B | 44052819680815%%xx | BG4I KM= 2 A EH
157 | FT45F | B | 44522419980430%#+* | BIR4EMILE KM= 23S 4EH#
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158 | HRE | B | 44522419810615%*#x | EIRHIM LA K Mg = 23K & 1E 4L
159 | FFi | B | 44522420050628%xxx | BIRAEMEALA KA = 2 5 A1k
160 | fT45E | B | 44522420040815%%%x | BIR4EMAH KM = 2 5K &1
161 | MRigze | B | 44522420030302#+++ | BEIR4IMIL 1 KM = 2 A ER
162 | WréF®l | B | 44522419970222% %%+ | EINALMEIL A KM= BiF ekt
163 | FhH&k | B | 44522419900710%xx | BIR4EMEALAE KM = 2 &4t
164 | Z4 % | B | 44522419910210%%%x | BUSAHMAL 1 K% = £ 5 & 1F 4
165 | & | B | 44052819541027 %= | BIRHIMG LA RM = £ &4
166 | {3l | B | 44052819510802%##+ | EIR4HME L KM= B &=
167 | FEFE | B | 44522420010414%%+ | BEIREMAL A KM= £ o4
168 | 2414k | B | 44522419851220%%%x | BRI KM= 2 A 14
169 | BrXi% | B | 44522419880524%xxx | HUR4EME AL K M5 = 2k &4k
170 | %3038 | B | 44522419890507##++ | EIRAMIL XM= 2 &4
171 | skapd® | % | 44522419911015#»++ | BURGIMELAE KA = 25 &1E 4
172 | HEM | & | 44522419971227#%xx | B3k 4iAE I R = 23 14
173 | 70 | B | 44522419961011##++# | E3f4iMe it KM = 2 &1E i
174 | ARAEWL | B | 44522419970519%% %+ | B3t dbit KM= £ 1B 4t
175 | WA | B | 44522419930528% %% | RIRAMEALAL KM = 2 5 oE 3
176 | 23R | B | 44522419800325%%*x | BR4M LA KM = 2% S1E4L
177 | #%% | & | 44052819550520% %%+ | BIG4AML R M= BB
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178

44522419950919% %%

R AL KA = B A 1F 4

179

445224198004 08 % %

RORPM AL KA = & 3 A1 4t

180

440528197008 03 s *

WG KA = 2 &4t

181

4452242004031 0%

BB R = 2 3 A4

182

44522419781026 %%

R G AL AL KA = 2 3 & fE 4

183

4452241993012 0% % %%

BB A AL KA = & A1 4

184

44522420031014% %%

AL KA = B A 1F 4

185

44522420010805% %%

B ALAL KA = B A1 4

186

4452241991091 7% %%

IR AR LA KM = 2 i A1 4t

187

445224199604 01 #%x*x

BRI KM = 2 i A4

188

44522420030525% %

B AR ALAL KA = B & 1F 4L

189

44522419870618 %%

BRI KA = 25 & 1At

190

4452241998021 9+

RO B ALAL K8 = & 5 &1 4

191

4452242005082 3%%*x

RO A LA R = 2 55 &1 4

192

4452241996031 6%+

R KA = BT A

193

44522419971020% %%

ORI KA = & 35 614t

194

44522419890902 %%

B gt KA = B fE 4k

195

445224199007 03 %%

R A KM = & 3 &1

196

44522419890714% %%+

BRI IL I R = 2 & 1F 4
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& ¥\ | W | ® | % | & | ® | ¥ | % | % | ¥ | % | % | % | % | ¥ | %W |¥%|¥%|®=

44520219800606%**x*

RS KM = B A 1E 4L
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198 | A | B | 44052819720609% %+ | EIR4MEAAL KM = 2 5% A3
199 | Jrzak | 3 | 44522419860204%xxx | BRI ML K M = 22 5 Akt
200 | ZFANK | B | 4452241986112 %xxx | EIR4MEIA R M= 2 K AR
200 | A& | k| 44052819490615%xxx | BIR4IMEIAE KM = £ kAt
202 | BRTHR | F | 44522420020712%xxx | BRAIMEIL A K ME = 2 55 A2
203 | 7R | B | 44522419741104%xxx | EIEAM A KM= 2 F A ER
204 | R | & | 44522419830105%xxx | BIRSMEALAE KM S 2 AR
205 | R | B | 44522420010701kxxx | EIGAME A KM= 2 AR
206 | ZPIRIE | B | 44522419781016%xxx | BUR4IMEIN AL K M = 2 kAt
207 | bk | B | 44522419910115%skx | BURYMALI EMZ 2 M
208 | TEERE | B | 44522419940715%xxx | BIRGIMEALAE KM S 2 KA R
209 | A | B | 44522419751029%xxx | BIRGMEALIE KM S B G AR
200 | ATHAL | B | 44522419881102%xxx | BIRMEILIE KM = £ 55 A2t
21 | KREE | B | 44522419760322%%%x | BIRSMEIL A KM = £ A e
212 | JrepfE | B | 44052819680902%xxx | BIR4AEALAL KM= 2 3k ARt
213 | MEH | B | 44522419881226% %% | BIRHM LA KM = 2 At
204 | BRIAL | B | 44522419900803% %% | BRI KM S 2 kA AE A
205 | X | B | 445224198204220kxx | EIRAAMAL AL KM S 2 G AAE
.216 FEMS | F | 44522419891028%xxx | EIRAM AL KM S 2 kA At
7 | RWA | 5 | 4452241992061 4%+ | B HM AL KM= 2 A4k 2
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218 | T8 | B | 44522419960701 %+ ORI KM = 2 3 o fk sk
219 | Z#RAE | B | 44052819730503% ks BRI R M = B A fE 4t
220 | KA | B | 4522419900723k xx | RARAAMALAL KA S 2 A e
221 | K3A | B | 4452241983061 6%%%+ ER ML R A = 2 k&b
222 | AEY | B | 44522420000817# 4% RO M A KA = 2 o A2k
223 | MTEX | B | 44522419880302 % %% ROREMG A R M = 2 55 614
224 | FHKFA | & | 44522419830710%%xx BRI R M = 2 5 A 14k
225 | REH | B | 445224199904 3% %% BB R M = 2% Ak
226 | ZTHEM | B | 44052819611124%%%% BN R A = 2 i k2
227 | Z4RA | B | 44522419810301 #xxx R G R M = 2 & fE 2t
228 | JTWRIR | B | 4452241997082 3% %% BRI A = 2 5 & fE 2k
229 | ARX | B | 44522419930609% %% BURGAME LA K = B i At 2k
230 | B | B | 44522419950730% % R G B A = 2 5 A1
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